Nostalgic Warehouse LONG PLATE Sinele Cvlinder Handl
PRE-ATTACHED ingle Cylinder Handleset
Door Hardware -
: : KNOB
InStallatlon Instructions OBS Note: Handlesets fit doors 1-3/4” to 2-1/4" thick.
Deadbolt (See D Below Before
USE INCLUDED DOOR PREPARATION Tongue Deadbolt Latch
TEMPLATE FOR NON-PREPPED DOORS Deadbol (Part#1A)  Installation)
e et bt \ ! Deadbolt Faceplate
[ S i . | (Part #14)
FTTET et Install % 3/4” Latch & Strike
T~ [ I e ‘ Wood Screws
— ~ T Deadbolt Edue Bbre Hol ! ” (Part #2)
— | I and ge )\re s \ 5 <
B Handleset \/% %
N o Latches \ ~
[ X d ! | p Latch Bolt
pa— « / \ ‘ _— (Part #13A)
A ! ‘ 4
Comerine I | ~
Crass Bore Holes Edge Bore Holes hes ! i > 3/4” Latch & Strike
% ‘ (TSee Latgl . Wood Screws
ongue INote
—~ USE INCLUDED PLASTIC TEMPLATE FOR L inTonel O Laten  PAt#
\ PREPPED DOORS Doornside Faceplate
(Part #14)
Latch Tongue Note Deadbolt Latch Tongue Note Door-Outside
Cylinder Assembly (part #3)
Bevel side of latch tongue should Tailpiece must be
contact curved end of face plate, VERTICAL during
and curved end of strike plate. @ g‘ InSta" installation.
, g Cylinder
Bevel Side
Face Plate Curve ;nd h
scutcheon
/
9 % Deadbolt Tongue must
Q 0 I be EXTENDED during
installation. Escutcheon
g ﬂ (part# 4) —
o
Strike Plate Curve Door-Inside
Deadbolt Thumbturn .
Adaptor Plate | B Assembly ~ Insert Handleset Spindle
(part #5) | (part \#7) '
i N
Insert Cylinder 4 4l DI (1) Push down Button
Assembl . a0 fm“ (] and Hold During
y 5 O )
into Escutcheon, %‘/&/ ACylindgzlr Attach Gl Insertion
and place on \ ) (part#3) | Thumbturn \ 58 @R
door exterior. / | @ A Assembly machine @ ¢ &
Attach deadbolt 234 ) ‘gﬁ ith screws <l v\@ Insert
daptor plat Machine Screws | with (part #8) 7] _ Handleset
adaptor plate (part #6) | | provided ‘ Spindle
with provided l | screws. ‘
screws. | - . )
Door Inside ™ Door-Inside ™~ ‘ Door-Outside
Adapter Plate Screws .
Cylinder and Escutcheon (part #20) (part #18) Install Jamb Strike Plate
(part#s3&4) -
Adapter Plate
. (pgn #17) Dust Box
Kndb Y (Part#9) Door Frame
(Part #21) g Reinforcer
. A= (Part #10)
Install Install Long Plate }?.r‘i" _
Exterior Long Plate  (part #19)/"“‘ Strike Plate
Handleset with Knob , Door (Part #12)
3/4” Wood Screws Jamb
on Door on Door (part #20)
Exterior Inside Lower Mounting Screw
(part #16) <= ‘ (p}rt#B)
Mounting Screw Cover\\ 3 Wood
(parti 24) 00
0 o N Screws
Screw Cover Adapter (Part#11) 3/4” Latch &
(part#22) Strike Wood Screw
Door-Outside Door-Inside Door-Outside (Part #2)
NOSTALGIC" 4
WAREHOUSE |

For assistance call 800-522-7336 Monday through Friday 7am to 6pm Mountain Time



aW] urejunoj widg o} wiez Aepl4 ybnoyy Aepuopy 9ge/-22S-008 ([0 soue)sisse Jo4

19s9[pueH 10J Ne[J MIS 9T
J9s9[puey I0oJ XoqIsng  'GT
IOA0D) MAIOS SUNUNON  “HT
MAIDS SUNUNOIN JoMOT ,8/L-7 €T
1)depy 10A0D) MOIDS 7T
qQouy I
SMAIOS SUnUNoN Aeld ,#/€ 0T
ajed SuoT 6l
(7) smang ae[d 1depy g
ae[d 1oydepy L]
Wso[puey 9]
o[purdg 1oso[puey ‘G|
ojejdoce] yoje 1  pl

onuol yore T V¢l
yoreT1esd[puey ‘€[
joqpes( 10j Ae[d S 1
(7) smaI108 poO\ 12I0JUIY , €  ‘I1
J9DJIOJUIdY Qwelj 100q (I
8 Jjoqpesd(J 1o xoqisng ‘6
(7) sMa10g dUIYOBIN WImquIny[, ,8/S
A[quiassy uimquinyJ,
(7) sma1og ouIyoRIN , 7/€-T
Jed 1depy jogpeaq

Gooﬂouzomm
ﬂ guryuidg D¢

ooardiey,  'dg
SoJoH Apog Topunky  'v¢

c &, ) a\\ / 210g-SS01) (sKa3/M\) AJquiassy JopurjA)
@/‘\\ , (8) SM310G POOAN MG 29 UYOIRT /€
o¢
ge

\

AU\

\

NN

< i O oo

e

SO[oH onduoy Yok T VI
a10g-93pg yoeTIoqpedd [

; uoydidSa(q  42quinpg
Mod g

qouwy] paydenv-a1J Yum
}9sa[pue IdpuIjA) a13urg Suimer( papordxyg



